6. AVERAGE

IMPORTANT FACTS AND FORMULAE

[ Sum of chaomations

| Number of observations |
2 Suppose o man covers a certain distanee at x kmph and an equal distance at

1. Averype =

oz
¥ kmph. Then, the average speed during the whole journey is .1.'--1':':1-' kenph.
L /

SOLVED EXAMPLES

Ex. 1. Find the average of all prime numbers between 50 and 50.

Sol. There are five prime numbers between 30 and 50,
They are 31, 37, 41, 42 and 47

31+37+414 -13;-111‘193

Required average = = | - = AR
Ex, 2, Find the sverage of first 40 natural numbers.
Sol. Sum of firgt n natural numbers = n—-“%ﬁ-
Hn, sum of first 40 natural numbers - . ;'“ = B2,
Required average = i{: = 0

Ex. 3. Find the avarage of firsi 20 multiples of 7,

Til+Z+3= ... +20] lri'.i'i'ﬂlﬂi] 147 | ”
i F - = = - = bk e | =
Bol. Reguired average 50 02 J E 2 T,

Ex. 4. The average of four consecutive even numbers is 27. Find the [argest of these
mumbors.

Bal, Let the numbers be x, x+ 2. s+ 4 and ¥+ & Thﬂ"-:
Felr+P+lx+d)+ix+ 5 dx + 12
. 4 1
Largest number = {x + &) = 24 + & = 30,

Ex. 5. There are two sections A and B of & class, consisting of 3¢ and 44 students

respetively. If the avernge weight of section’A is 40 kg and that of section B iz 35 kg,
find the average weight of the whaole class.

Sol. Total weight of (36 + 44) students = (36 =« 40 + 44 x 35) kg = ZHE0 kg

a 5 =

=27 = E+3 =87 = x=04

Average weight of the whole elass = [ 20 | kg = 3725 kg
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Ex. 6. Nine persons went to & hotel for taking their meals. Eight of them spent
Rs. 12 each on their meals and the ninth spant Rs. 8 more than the average oxpenditure
of all the nine, What was the total money spent by them 7

Sel. Let the average expenditure of all the nine be Rs. x
Then, 12 x B + {(x+ 8) = 9xor 8x = 104 or x = 13.
; Total money spent'= Bx = Ha. (9 » 13) = Rs. 117.
Ex. 7. Of the three pumbers, second is iwice the first and is slso thrice the third,
If the svernge of the thres numbers iz 44, find the largest number

Sol. Let the third number be x Then, second number = 3x First nurmber .%_

IF3I+%1-: =(44x3) or % =4S orz =24
50, largest number = 2nd number = dx = 72,

Ex. 8. The average of 25 resulls is 18 The aversge of first twelve of tham is 14 and
that of last twelve is 17. Find the thirteenth result,

Bel. Clearly, thirtesnth retals = doum of 25 regultn)—{sum of 24 results’
= (18 x 25 — [(14 = 12} + {17 = 124
= 450 = (165 + 204) = 450 - 372 = 78.
Ex. 9. The average of 11 results is 80. If the average of first six results is 58 and
that of the last gix is 88, find the sizth result
Bol. Sixth result = (58 x 6 + 63 6 = 60 x 11} = G&.

Ex. 10. The average weight of A, B, C is 45 ky. If the avernge weight of A and B be
40 kg and that of B and C be 43 kg, find the weight of B.

dSol. Let A, B and C represent their individual weights. Then,
A+B+C=(45x3) kg = 135 kg.
A+B=-d0=x2kg=Rikgand B + C = (43 = 2) kg = 86 by
B=A+BI+B+C)-iA+B+C) = (8D + B6 - 135) kg = 31 kg

Ex. 11. The average age of & dass of 39 students is 15 years, If the age of the teacher
be induded, then the average inervases by 3 moaths, Find the age of the teacher

Sol. Total age of 39 persons = (39 x 15) years = 585 vears.

Avorage age of 40 persons = 15 years 3 months =E—*1ayu.ri..

Total age of 40 persons = [-‘-ilrdﬂl years = 510 years,

Age of the teacher = (610 — 585) years = 25 yoars.

Ex. 12. The average weight of 10 carsmen in a boat is increased by 1.8 kg when one
of the crew, whe weighs 58 kg is replaced by a new man. Find the weight of the new
man.

Sol. Total weight increased = (1.8 x 10) kg = 18 kg.
s Weight of the new man = (52 + 18) kg = 71 kg.
Ex. 13, There were 85 atudents in a hostel. Due to the admission of 7 pew students,

the expenses of the mess were increased by Rs. 42 por day while the average axpenditure
per bead diminished by Re 1. What was the original expenditure of the mess 7

Sol. Let the orsginal average expenditure be Re. x. Then,
2ix—1)=J51=47 = Ter=PRd = x=12
Uriginal expenditure = Ba. (35 » 12) « Bs. 420,
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Ex. 14. A batsman makes & gcore of 87 runs in the 17th inning and thus iscreases
his averuge by 5. Find his average after 17th inning. .
Sol. Let the average after 17th inning = £
Then, average after 16th inning = (x = 3k
16 (x—3)+ 87 = 1T or x = (87 — 48] = 38,
Ex 15 Distance between two stations A and B is 778 km. A trein covers the journay
from A to B at 84 km per hour and returns back te A with & uniform speed of 56 km
per hour Find the average speed of the train during the whele journey.

= [ 2xy } 2% 84 x 56
Sal. Reqmrzdamugcspmd—i‘;+yjhni'hr— BT 50

[ExEﬁMEE

km/fhr

] ke/hr = 67.2 km/hr.

EXERCISE 6A
(OBJECTIVE TYPE QUESTIONS)

Directions : Mark () against the correct apswer : :

1. David obtained 76. 65, 82, 67 and 85 marks (out of 100} in English, Mathematics,
Physica, Chemistry and Biclogy What are hiz sverage marks 7 (Bank EO. 2003)
{a) 65 (b 69 (ed T2
(d) 76 (¢} None of thess

2. In Arun's opinion, his weight ie greater than 65 kg bul less than T2 kg His brother
does not agree with Arun and he thinks that Arun's weight iz greater than 60 kg but;
less than 70 kg His methers view is that his weight cannot be greater than 68 kg
If all of them are correct in their estimation, what is the average of different probable

weights of Arun 7 (B.R.ILLPO, 2000)
(@) 67 kg (b 68 kg ey 89 kg
idl Data inadequate (g} None of these
9. The average of 20 numbers 15 zero, OF them, at the most, how many may be greater
than zers 7 (Hotel Management, Z002)
(@) O (b 1 {al 10 (ol 19
4. Find the average of all the numbers between 6 and 34 which are divisible by 5,
ta} 18 {b) 20 (ch 2 (d) 30
(C.B.1. 1997)
B. The average of first five multiples of 3 is : {Assistant Orads, 1998)
(@) & ib) 9 fg) 12 (dl 15
6. The average of the first nine prime numbers is : (C_B.1L. 2008)
1 e
(a) B b} 11 {ieh 11; {d) 11;

7. A student was asked to find the arithmetic mean of the numbers 3, 11, 7, 8, 15, 13,
8, 19, 17, 21, 14 and x He found the mean to be 12. What should be the number i
place of x 7 (Section (HTicers”, 2003)
{al 4 (&) 7 (ep 17 {d) 31

& The avernge of 2, 7, 6 and x is G and the average of 18, 1, 6, xand yis 10. What is
the value of y?

(a) & By 10 {eh 20 {d) 30
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8. IF the moan of & shasrvations x, x + 2, x + 4, x =+ 6 and x + 8 is 11, then the mean
of the last three observations is (C.D.8, 2003)
lak 11 (k) 13 ich 16 idh 17
10. If the mean of a, b, c is M ond ab + be + ca = 0, then the mean of o, b &is:
&l M? (b} 3M3 (el BME (aft M2
{IITTM, 2003)
11. The average of the two-digit numbers, which remain the same when the digits imber-
change their positions, is : {C.D.5. 2003)
la) 33 (b 44 {ch 55 {d) &6
12. The average of first 50 natural numbers is -
fa) 1225 (b) 21.25 (ch 25 (dl 25.5
13. The mean of 12, 2%, 3% 4% 52 @2 79 jg -
{a) 10 (b 2 fel 20 [l 4ib
14. The average of all odd numbers upto 100 i5 :
La) 4B Lby 495 iy 50 1d) &1
15, If w, b, ¢, d, e are five consecutive odd numbers, their average is -
Lal B (@ + 4) i.hl
i Sia+hbh+eed+a {d) None of these
16. The average of a non-zere number and its square is & times the number. The number
i (8.8.C, 2003)
fa) & (b 17 {cl 29 ld) 205
17. The average of 7 consecutive numbers is 20, The largest of these numbers is
(a) 20 (b 22 (c} 23 i 24
(5.5.C. 2000)
18. The average of five consecutive odd numbers is 61. What is the difforence between the
higheat and lowest numbers 7 (Bank POQ. 2003)
(a} 2 (b 5 (el B
idl Cannot be determined ted Mone of these
19. The sum of three consecutive odd numbers is 28 more thas the average of thom
numbers. What is the first of these numbers ? (Bank PO 1958)
(o) 13 (17 fel 18
(e} Data inadequate (& None of these
20. The average age of the bovs in a class is 16 years and that of the girls is 15 years
The average age for the whole glass is - (3.8.C. 2003}
la} 15 years (B} 15.5 vears ie) 18 yoars
(d) Cannot be computed with the given information
21. The average annual income (in Rs) of certain agricultural workers is S and that of
other workers is T The number of agriculiural workers is 11 timee that of other
workers, Then Lhe average monthly income (in Rs.) of all the workers is -
(@) % i b) : 211T (¢} *1% + T i) -—“ng
(5.5.C. 2004)
22 A family consists of grandparents, parents and thres grandchildren, The average age

of the grandparents is 67 years, that of the parents is 35 years and that of the
grandchildren is 6 years. What is the average age of the family 7 (R.R.B. 2003)

a) iﬂ% years ib) 31% years () 31-:: yearg ldi None of these
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A library has an average of 510 visitors on Sundays and 240 on other days. The
sverage number of visitors per day in a month of 30 days beginning with 8 Sunday
is ¢ (M.A.T. 2003)
(a} 250 by 278 fch 280 (d) 245

If the average marks of three batches of 55, 60 and 45 students rezpectively is 50.
55 and 60, then the average marks of all the students is : (C.R.1. 2003)
fa} 5333 (b} 54.68 (c) B {d] Nomn of thess

The svernge weight of 16 bove in a class iz 50,25 kgs and that of the remaining & boys
is 45.15 kgs. Find the average weighl of all the boyve in dhe class, (I.M.T. 2002}
(a) 47.55 kg {b) 28 kgs (c) 48.55 kg= (d] 49.25 kg=

A car owner buys petrol at Rs 750, Rs. 8 and Rs, B.50 per litre for three successive
vears. What approximately iz the average cost per litre of petrol if he spends Re. 4000

cach vear ¥ (M.AT. 2001)
{al Rs, 7.08 (b} B= B tel Rs, B.50 (d' Rs. B

The average of six numbers is x and the average of three of Lhese is v If the average
of Lhe remaining three is & then : {(Hotel Management, 2001}
(o) x my otz [l 25 =y + & (o) x= 2y + 2x {dh Mone of these
Ot of 9 persons, & peraons spent s, 30 sach for their mealz. The minth one spent
Rs. 20 more than the average expenditure of all the nine. The total money spent by
all of them was ! (C.B.I. 1593)
(@} Rs, 260 (b Ra. 290 [ch He. 00250 {d) Hs, 40050
The average of 5 numbers is #3017 two numbers, 35 and 40 are discarded, then the
average of the remaining numbers ia nearly : (R.R.B. 2002)
(&) 2512 b 28.78 eh 2827 id) 20.688

The avernge of five aumbers iz 27. If one number is excluded, the average becomes 25.
The excluded numbser is : {Section Officers’, 2003}
(g 26 ibh 27 i¢h 30 (d) 35

The average age of 35 studends in o clags is 16 years, The average age of 21 stucents
is B4, What iz the average age of romaining 14 students 7 (5.B.I.RD. 1887}
ol 15 years (b 1T veurs (& 18 years [dy 19 years

16 children are ta be divided into iwo groupa A and B of 10 and 8 duildren, The average
percent marks obtained by the children of group A is 75 and the average pereent marks
of all the 16 children i 76, What is the average percent marks of children of group

B 7 (B.B.R.B. 2003)
1 2 1 F
d i = TE—

{n) -”3 [} ".I'.IJ e} ‘Iﬁa {dh ﬁﬂ

The average score of a cricketer for ton matehes i 380 runa. IF the average for the
first gix matches iz 42, then find the average for the last four matches

(] 33.20 (b 3.5 (¢ 34.25 (d} 35
(IGNOU, 2003)

The average of gix numbers is 395 The average of two of them s 3.4, while the
average of the elher two iz 385 What is the average of the remamning twoe oumbers 7
lal 4.5 (h) 4.6 cr 4.7 (d) 4.8

(Bank PO, 2003)
The batting average for 40 inning= of a cricket player is 50 runs. His highest score
excocdr hie lowest score by 172 rung. If thege two innings are excluded, the average
of the remaining 28 innings is 48 runs. The highesl score of the player is :

(s 185 runs b 170 runs ek 172 run= idi 174 run=s
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The average price of 10 books is Re. 12 while the average price of 8 af these books

is Rs 11.75. Of the remaining two books, if the price of one book is 80% mere than

the price of the other, what is the price of each of these two books 7

(a) Rs.5, Rs.7.50  (b) Rs.B, Rs. 12 {£) Rs.10, Ra 16 (d) Be 12, Rs. 14
(Assistant Grade,K 1957)

. The average of runs of a cricket player of 10 innings was 32. How many runs must

he make in his next innings 20 a2 to increase his average of runs by 4 *
{a) 2 (B) 4 {ch 70 (di T8

{8.8.C. 20041
A grocer has a sale of Rs. 6436, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5
consocutive months. How much zale must be have in the gixth month =0 that he gets
an average sale of Rs. 6500 7 (5.5.C. 2003)
(@) H=. 4941 (bl s, 58%)] (¢ Rs. 6001 id) Rs. 5991
A company produces en an average 4000 items per month for the first 3 months, How
many items il must produce on an average per month over the next ¥ monthe, to
average 4376 itema per menath over the whole 7 (8.5.C. 1539)
fa) 4500 {b) 4600 (el 4580 (d) 4710
Iz thefirst 10 overs of & cricket game, the run rate was only 3.2, What should be the
run rale in the remaining 40 overs to reach the target of 282 rund 7 (MAT 2002)
(&) 6.25 (b} 6.5 (o} 6.75 {dh 7
The average price of three items of furnitare iz Rs, 15000, If their prices are in the
ratio 3 : 5 : 7, the price of the cheapest ftem is :
{a) Rs. D000 (b Hs, 15000 (¢l Rs. 18000 (d} Hs 270804
Of the four numbers, the first is twice the second, the second is one-third of ihe Lhird
and the third s § times the fourth. The average of the numbers ie 24.75. The largost

of these numbers is ; (Hotel Management, 1998)
(m) & (BY 26 () A0 (d) Mone of these
Of the four numbers, whose average is 60, the first is one-fourth of the sum of the last
three. The frst aumber is : (8.5.C. Z000)
(a) 15 (b} 45 {ch 48 [ 6625

Of the three numbers, the first is twice the second and the second is twice the third
The average of the reciprocal of the numbers is %.Thenumherxsu:

(a) 16, & 4 (k) 20, 10, 5 (ch 24,12, 6 (d) 36, 18, 9
(C.B.I. 198T)

Of the three numbers, the average of the first and the second is greater than the
average of the second and the third by 15 What is the difference between the first

and the third of the three numbers 7 (5.B.LPO. 2000)
(2 15 (bl 45 fe) GO
{dh Data inedequate {#l Home of these

The average of & numbers is 20, The average of first two numbers is 15% and that

of the next three is 21%. If the sixth number be less than the seventh and eighth

numbers by 4 and 7 respectively, then the eighth number is - (8.8.0. 2004)
(&) 18 (b 22 {cl 26 () 27

If the arithmetic mean of seventy-five numbers is calculated, it is 35. If each number
i# increased by B, then mean of new numbers is : (Ampistant Grade, 1968)

(a2} a0 (b 40k (el 70 [l G
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The average of ten numbers is 7. If each number is multiplied by 12, then the average
of the new =&l of nambers i :

{a) 7 (b} 19 (e} B2 i} 84
Average of ten positive numbers is T IT each number is increased by 10%, them *
(&) remains unchanged (b} may decrease
(¢} may increase (d) g inerouased by 10%

(I.M.T. 2002)
The mean of 50 observations was 36 It was found later that an ohservation 48 was
wrongly taken as 23. The corrected new mean is : (8.5.C. 2003)
(&) 35.2 (b 36.1 {ch B5.5 (c) 38.1

ﬁnupii’umuhmmngtgmhrﬂnmmmdnfﬁa.Bu:mmutth:nwagn
marks for the class got increased by half. The number of pupils in the class is

{a) 10 ib) 20 61 40 i
(C.B.1. 1998)

The average age of 15 students of a class is 15 years. Out of these, the average age
of & students is 14 vears and that of the other 9 students is 16 years. The age of the

15th stodent is - (8.8.C. 2008)
(&) L1 years (b} 14 wears {c) 15 years (dl IE% FERTH

The average of 11 numbers is 10.9. If the average of the first six numbers is 10.5 g
that of the last six numbers is 11.4, then the middle number iz :

fa} 10 (B 113 ie] 114 () 11.5

The average weight of three boys A, B and C ig M% kg, while the average weight of

three boya B. D and E is 53 kg. What is the average weight of A, B, C,Dand E ?
[a) B52.4 kg (h) 53.2 kg ) () 53.8 kg
(d) Data inadequate el None of these

(8.B.LPO. 2002)

The average temperature of the town in the first four doys of & month was 58 degrees.
The average for the seeond, third, fourth and fifth days was 60 degrees. If the
temperatures of the first and fifth days were in the ralio 7 . 8, then what is the

temperature on the fifth day 7 (NMIME, 2003)
(@) 64 degrees (h) B2 degrees () 56 degrees (d) Mone of these.,
The average weight of A. B and C is 45 kg If the average weight of A and B be 40 kg
and that of B and C be 43 kg, then the weight of B is : (8.8.C. 2004)
(2) 17 kg (B 20 kg (e) 26 kg (d) 31 kg

The average monthly income of P and § is Rs. 5030. The average monthly income of
@ and R is Rs. 6250 and the avernge monthly income of P and R is Es. 5200, The
monthly income of P is ; (R.E.H. 2004}

(2] Ra. 3600 (B) Re. 4000 icd Rs, 4050 (d} Rs. S000
The average age of 36 stodents in a group iz 14 years. When teacher's age is included
to it, the average increases by one. What is the teachers nge in Pears 7

{a) 31 (b} 36 (e} 51

(et Cannot be determined (ed Mone of these (R.B.I 2003)
The average monthly salary of 20 employees in an organisation is Rs. 1600. If the
manager’s salary is added, then the average salary increasos by Rz 100. What is the
manager's monthly salary 7 (R.EB. 2002}
(a) Rs. 2000 (b} Hs, 2400 (¢) B=, 3600 () Ra. 4800
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- The average weight of a class of 24 students i= 35 kg. If the weight of the teacher be

included, the average rises by 400 g The weight of the teacher is @ (8.8.0, 2003
(a) 45 kg (b 50 kg (e) 83 kg (e} 55 ke

The average age of the mother and hor rix children is 12 years which is reduced by
& years if the age of the mother is excluded. How old is Lhe mother 7

La) 40 yoars (b] 42 vears (el 4H yedars (d} 50 years
The captain of a ericket team of 11 members is 25 yemrs old and the wicket keeper
is 3 years older. If the ages of these two are excluded, the average age of the remaining
players is one year less than the average age of the whale team, What &4 the average
age of the team 7 (N.LET. 2000)
(ab 23 vears (B} 24 years (e} 25 vamirs ldl Mone of thess
The average height of 25 boys is 1.4 m. When & bays leave the group, then the average
height increases by (.15 m. What is the average height of the 5 bovs who leave 7
im) 0.8 m (hy 0.9 m [ch O 88 m id] 1.05 m

- The average weight of § persons increases by 2.0 kg when a new person comes in phice

of one of them weighing 65 kg. Whal might be the weight of the new person ?

tal T8 kg (b1 765 kg () 85 kg

[d) Data inadeguite iel None of these (Bupk FO. 2000)

The average weight of 45 students in a elans is 52 kg. Five of them whose overage

weight is 48 kg leave the class and other 5 students whose average weight is 54 kg join

the class. What is the new average weight (in kg! of the class ? (R.H.B. 2002)

(a) 52% (b '52% {cl 52% td) Mone of these

The average age of 8 men is increased by 2 years when two of them whoese ages are

21 years and 23 years are roaplaced by two new men. The average age of the two mew

men is ; (8.5.C. 2002)

(a} 22 wears (B 24 vears {c) 28 years {dy 30 vears

The average of five consecutive numbers is n. If the nexc two numbers ane als

included, the average will ;

(a) remain the same b)) increaza by 1

(€] imcrease by 1.4 (d) increass by 2

A cricketer has a certain average for 10 innings. In the eleventh inning, he scored 108

runs, thereby increasing his average by & runs. His new AVETEE 18

{m) 4B runs (5} 52 runs {c) &5 runz (d} 80 runs
(A.AO. Exam, 2003)

A ericketer whose bowling average is 12.4 runs per wicket takes 5 wickets for 28 runs

and thereby decreases his average by 0.4. The number of wickets taken by him till the

last match was - (8.58.C. 20000

(2} G4 (b 72 (o) & (d} B85

A team of B persons jeins in a shooling competition. The best marksmun scored A5

paints. If he had scored 92 puints, the average score for the team would have been Bk,

The number of pointe, the team scored was -

(a} 588 (k) 645 (e} BBS (di 672

A motonist travels to a place 150 km away st an average speed of 50 km / hr and

returns at 30 km/hr. His average speed for the whole journey in km/ hr i -

(m) 35 (b ar (ch 37,5 {d} 40

. The average weight of 3 men A, B and (0 is &4 kg Ancther man T} joins the group and

the average now becomes B0 kg. TF another man E, whose weight is 3 kg more than
that of D, replaces A, then the average weight of B, ©, I and F becomes 78 kg The
weight of A is : (Bank PO, 2003)
(a) 7O kg (b) 72 kg ieh 75 kg id RO kg
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78. The average age of a husband and his wife was 23 years at the time of their marriage.
After five years they have a one-year old child. The average age af the family now is
Ca) 19 yeoars (b} 23 years (¢} 28.5 years (efy 28.3 years
{Assistant Grade., 1998)
74. Three years ago, the average age of A and B was 1€ years. With C jeining them, the
average age beeomes 22 yoars. How old is C oow ¥
{a) 24 years (b} 27 years {¢h 28 yenrs (d) 30 years
76. The average age of husband, wile and their child 3 years ago was 27 years and that
of wife and the child 5 years age was 20 years. The present zge of the husband i :
(@] 45 years (&) 40 wears i¢} 50 years () Mene of thess
{Hotel Management, 2003)
78. 3 years ago, the average age of o family of 5 members was 17 years A boby having
heen barn, the average age of the family is the same taday. The present age of the baby
is (8.5.C. 2004)

(&) 1 year 1 bk 1’5 FOars (¢h 2 years {d) 3 years

T7. 10 years ago. the average age of a family of 4 members was 24 years. Twa children
having been born (with age difference of 2 years), the present sverage age of the fomily
is the same The present age of the youngest child ie (8.5.0. 2008)
(a) | year (b & wears (i 3 years idi 5 years

78. Alter replacing an old momber by a new member, il was found that the average age
of five members of a club is the same as it was 3 years ago. What is the dafference
between the ages of the replaced and the new member 7
ia)  wears {B) 4 years [l 8 years (el) 15 years

70, The average age of A children in a family is 20% of the average age of the father and
the eldest child. The total age of the mother and the youngest child is 39 years. If the
father's age is 26 years, what is the age of sgecond child ?
{a} 15 vears (b} 18 vears [e) 20 wears {d) Cannot be determined

B0. The average age of a group of persons going for picnic is 16 years. Twenty new persons
with an averagh age of 15 years join the group on Lhe spat due to which their average
aze becomes 15.5 years. The number of persons initially going for picnic is :
{a) & {b) 10 (ch 20 idi 30

Bl A certain factory employed 800 mén and 400 women and the average wage was
Rs 26.50 por day. If o woman gol Rs. 5 less than a man, then what are Lheir

daily wages 7
(2 Man ; Rs. 25 Woman : Ke I0 [} Man ; Re. 27.50, Woman ; Rs. 22.50
le) Man : Rs. 30, Woman ; Rs. 25 {di Man : Bs. 32.50, Woman : Ra. 27.50

82, The arithmetic mean of the seores of a group of students in a test was 52. The
brightest 20% of thom secured a mean seore of 50 amd the dullest 25% a mean score
of 31. The mean score of remaining 55% i= : (B.8.C. 2000)
(&) 45 b 5 {¢) E1.4 approx. (d) 546 approx.

B8. The average salary of all the workers in a workshop is Rs. 5000, The average salary
of T technicians is R, 12000 and the average salary of the rest is Rs. S000. The total
number of workers in the workshop is (8.8.C. 2003)
(a) 20 (b 21 {ch 22 dl 23

84. In a school with 600 stedents, the average age of the boye iz 12 years and that of the
girls is 11 years. Il the average age of the sehool is 11 years & months, then the number
of girls in the school is :
L&) 150 ( by 250 (el 350 () 450
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8b. In an examination, a pupil’s average marks were &1 per paper. If he had obtained 20
more marks for his Geography paper and 2 more marks for his History paper, His
average per paper would have been 65, How many papers were there in the examination 7
(&) B 1= ) (e 10 {d) 11 {e] 12
(BCMHRED, 2001}
B6. The average age of students of a class is 15.8 years. The average age th}m in the
class s 16.4 years and thai of the girls is 15.4 vears. The ratio of the number of bays
to the number of girls in the class is : (5.B.1.PO. 2002)
' &) 1.2 {h}2:3 (el 3 : 4 idi3:5
ANSWERS
L {ad 2. a. d) 4, {B B, {B] 5. el 7. (B B. (2 8. (bl
10. (&) 1L (¢ 12.(d) 13 (B 14.4c) 16 id) 18 (a} 1T7.(s0 18 (3
18. (b} 20.{d) 21 () 22 (b 23 (dh 24. (B 25 (0 26 (m IV
28. (@ 20. () 30.(h 3L id 22 (b 8% i¢ M. (B 36 {2 36 (d
7. (d) 38.ia) 30.{a) 40 (a) 41. (s 42.(d) 48. (cd &4 (a0 45 (&
48. (c) 47. (b} 4B.(dh 49. () 50. (0 6l e B2 (a) 53 () 54 (dh
86. (a) 56 (d) 67.(0) BB.(c) 59 (a0 60.i20 6L (K &2 (d &3 (a
ﬂ',"" () 86 (0 66.(dd 67.(b) 68 () 69 (dl TO. (¢ TLid T2 ia
T8 (a} T (a) T (B T I TIio T8 id T9.(dh BO (& &L ik
B2 (20 B83. (b B84, (a0 BE () B8 (b
SOLUTIONS
i K i 3T = H5 1
iz vl .!?E+E..:+E.E.+h.u H'J" E!-TE.
L 4 5 )
2. Let Arun's weight be X kg.
According to Arun, 65 < X < 72,
According to Arun's brother, 80 < X < 7D,
Aecarding to Arun's mother, X « 64,
The values satisfving all the above sonditions are 66 and &7,
— i 'II
Required average = {@| % = 665 kg
RN -
4. Average of 20 aumbers = @,
Sum of 20 numbers = ([} « 20) = 0,
It is quite possible that 19 of these numbers may be pogitive and if their sum is a,
then 20th number is (= a
1 \
A T Aveage = [1"“5“.‘%'.:.!5_‘13‘9 - a0
H F) Frl
B. Average = 3{1+2-rﬂid-_-'l & @ . EE ik
5 3
k|
£ A ':[i+3fﬁ+1+]1;13+111—19+23.=%_11-I
d
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3+11+7+9+15413+ 84194174214 ¥ x]
T. ﬂllﬂ?,ﬂhﬂﬂ[ T = 12

o W7 +x=144 of == 144 = 137 = T,
2:T+6
&, Wehva:[%

1B+1+8+x+
.MH-,[ - = 4

]—5 or 15 +x=20 or x=0§

]-!El or 25+ 54+ ¥y=580 or y=3L

8 wahm-[’—'{"*m'l’"““*m*“*% S e B MRS w x=T,
’ : 5

8o, the numbers are 7, 9, 11, 13, 15,
: 11+ 13+ 16 39
4 Reguired mean = [u—-'—é---—} = —ﬁ-- = 13

ia+b+r

lﬂ.Wehlw:( ]=H ar (@ + b+ c)m 3M.

Now, (a + b+ cP = (AMP = 9M2,

e &8s+ A+ 20ab+ be+ ca) = AME

o S+ d-ok I'- (ab + be + ca) = 0]
Fil.¢2+bﬂ+:j'}=w=mi.

L ] | a

£

Required mean

11+ 22+ 33+ 44 + 55+ 66+ TT + 88 + 59
11. Average = | — -

9

 [411 # 98) + (22 + 88) + (33 + TT) + (44 + Hﬁhﬁ'&l
=1 3 |
" '4::11n+55],: 495 _ o

L 8 9

rnin+1l

12. Sum of first n natural numbers - o

rins+1) R+1
So, average of first n natural numbers = = S
ED*!"!_EI
3 J 2

m I! .22 + 3= "'Illa.‘l-ﬂ.: = n{ﬂl—-l-ilal:'iTll__i_:l

BB iFa .+ T =[Ifjﬁll§] = 140,

Required average = [ = 26.6.

40
8o, required average = [_T] = 20,

14. Sum of odd numbers upte 100 = 1 +3 + 5+ 7 + . & 00+ BT &899,
wi1 %000+ {3+ 9T+ (5+ 95+ ...+ upto 25 pairs
—ll:l'ﬂ'rlﬂﬂ+1ﬂﬂ+.,...l:'.'25 times) = ERD.

o=
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15.

Clearly, b=a+ 2, ¢=a+4, dea+Bandes o+ 8
atle+B+la+dl+lo+B+la+8 [Sa+350
5 A

5. Averape = | = [+ 4
P

16. Let the number be x Then,

17.

18.

18,

21,

.‘-|!+.‘I!=

3 sflir & ©=91=0 = ¥(x=-9nd x=00r x=159
B0, the number is 4,
Lot the numbers be x. x+ 1. x+ 2, x+ 2, x+ 4, v+ 5 and x + &
Tl xiilx+ ],:l+|;:+i]+:.:;+:1r'llr+f.1.-+'l]+ll:-l E]b-:.1'+E:I:2D
or Tx+ 21 =140 ar Tx = 119 or x = 17,
i Largest number = x + § = 23,
Let the numbers be £, v+ 2 x+ 4, x+ B and x = B
Then rxlx+ i+ g+dl+iz+Bl+(x+ 8
4 5
So, required differonce = (57 + 8} = 57 = &,
Lot the numbers be 1. x + 2 and x + 4.

= 6L or ix+ 20 = 305 or x = 57.

Thea, (z+x+2+zx+di- I..1:+;-t§=r+*lll = 38
Lz + )
3

ar (dr = &) -

= 38 or 3(3x+ 6) = 114 or Bx » 102 oF = 17

Ho, firsi number = x = 17,

Clearly, to find the average, we ought to kaow the number of boys, girls or students
in the class, neither of which has been gven.

S0, the data provided is inndequate.

Let the aumber of other workers be x

Then, nurmber of agriculiural workers = 11x

Total number of workers = 12x

oy - ; E_E;I];th:=llﬂ+T.

12 12
_ BT xZ+3Bx2+6x3
Hr.quhndaveraﬂe—{ 24243 ]
- [——”"*7{]*‘51 - 22 - 212 years
[ J ) 7

Sinee the month beging with a SBunday, so there will be fve Sundays in the month,

[
5 Biyilbed -{5]ﬂxa+34ﬂxiﬁ].&55&=ﬁﬁ_
- a0 30
i
. 55 x 50 + 60 x 55 + 45 % 60
ool 56+ 60 + 45 ]
(2760 + 3300 + 2700  BT50
160 _Jh 180 - "Hee
A T i _mzs:-r::ar;maxal

2 [M@] - LGS0 | ass
24 24
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4000 4000 4000
¥ | litres
7650 8 850

28. Total quantity of petrol consumed in 3 vears .[

5 ) )

Total amount zpent = He. (3 = 4000) = Re. 120060,

12000 = 51 6120

Avemm;-h[ L T
76700 767 :

ﬁ-m“ﬂfthﬂfﬂtx-[gré—&]uTEru_q.--g
28. Let the average expenditure be Rs. x Then,
Ox = 8 x 30 +(x + 20) or 9% = x + 260 or Hx = 260 or x = 32.50.
v Total mmemey spent = Sx = e (8 = 32,50) = Rs 292, 50.
29. Sum of 50 numbers = 30 » 50 = 1500,
Sum of remaining 48 numbers = 1500 — (35 + 40) = 1425,
14258% 475
b ] =_=E-|E'E\
Required aversge [m; 16
80. Excluded number = (27 « 5} — (25 x 4} = 135 — 100 = 35.
81. Sum of the ages of 14 students = (16 x 35) - (14 x 21} = 560 - 204 = 286

Required m:a:[%j':lﬂ yoars,
A
— (T 16 — 750
A3 Raquirsd e ..{Tﬂxlﬁﬁ f'ﬂ-x!ﬂ}_{125 TEIIJ_-I.EE-_E%'??E_
i & 6 4 i
i —.m'g"‘m;'”z"'?LuE:sus

34. Sum of the remaining two numbers = (395 B) - (24 = 2) + (385 x 2|
= 2370 - (BB + T.Th = 2370 = 14.5 = 920,
]
Required l‘ﬂ:ﬂt#—(%J = 4.8,
36. Lot the highest score be x Then, lowest score = (x — 172)
Then, (50 = 40) - lx+ (x — 172)] = 38 = 48
= 2x= 2000 + 172 - 1824 o Zx =348 @ x = 174
38. Total price of the two books = Re. (12 = 100 - (11.75 = 8]
= Ra. {120 = 94) = Ha 28,
Let the price of one book be Rs. x
Bix |

Then, the price of other book = Rs. (x = 50% of 1) = Hs, ['hg:lu R, [?,"

Bo, r+%+‘2ﬁ o 18r= 130 o x= 10,

The prices of the two books are Hs, 10 nnd Hs 16
37. Average after 11 innings = 36.
Required number of runs = (36 < 11) = (32 x 10
= 3t - 330 = Ta
38. Total sale for 5 months = Rs. (6435 4+ 6927 + G855 + T230 + 6662} = s 34009,
Required gale = Rg. {GE0D = 6) - 34008] = Rs. (39000 - 34009) = Rs. 4991
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42,

47,

Quantitative Aplitude

(4375 = 12) ~ (4000 x &) o G2500 — 12000 = 40500

Requicsd Krecige = a 9 8
982 - (3.2x 10) 250

Required ren rate = ————x— - 2 _ g5
40 40

. Let their prices be 3x, 5x and Tx

Them, 3x 4 Bx + Tx = (15000 = 3) or x = 3000,
Cost of cheapest item = 3x = Rs. 9000,
Let the fourth number be x

Then, third number = 5x. second number = T and firsl number = o B

x-ru:|?+19i-m:5:<4} or llx =S8 pr x= 9.

So, the numbers are 9, 45, 15 and 30,
Largest number = 45,

. Let the first number be x

Then, sum of the four numbers = x + 4% = 5%
il = 4
b

Eu.?-murr=( ]=-iih‘-.

Let the third aumber be x Then, second number — 2x First number = 4

X Ex 4x T2 dx
So, the numbers are 24, 12 and &.

i L 1 T
-.+_+_:[_ij or l_% or dx = 24 or x = 6.

» Let the numbers be x v and =

Then, [EJ—[P;—I}-"E wix+ww—{p+2=3Worx=-2=30

. Let the sighth number be ¥ Then, sixth number = (x — 7).

Seventh pumber = {(x - 7} + 4 = (x = 3.
o [Exlﬁilf[ﬂx‘.il%]-r-[:—':I':l-[.r-:!J-h:'_- B 20

P 31+ B4 +[(Bx— 10) = 180 = JAx=T5 & r= 25
AM. of T8 aumbers = 35,
Sum of 75 numbers = (76 x 35} = 2625
Total increase = (75 x 5) = 375.
Increased sum = (2625 + 375) = 3000,
S0

Increascd average = ? = 4

. Average of 10 numbers = 7.

Bum of these 10 nombers = (10 = 7 = 70,
N+ E .. * Ky = T
= 12x + 12x, + ... + 12x,, = B40
12«
y + 188 + ., + 12ng . B
10
= Awverage of new numbers is 54,

10x

= 4500,

.
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61.

6a.

G&.

&8,
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.tl +J.=_+--...'|'Iu = ? -y ;‘ TEpE L E Xy = 10%

10
110 110k 110 110 )
e i e F—— = —x 1z
TR T R 100 % T 100
110 110
—_— e L SR e —
0 10

=  Averape i3 increased by 10%,
Correct sum = (36 = 50 + 48 — 23} = 1825,

1825 = 38R

Correet menn =
Let there be x pupils in the class,

d : _!' 1 _ =
Tatal inerease in marks = 11?!'-21-] R

;-:qas-a:a} = %-m = x = 4,

Ape nl"l.hn 15th stodent = [15= 15 —(14 = 5+ 16 =89)] = (225 =214) = 1] years,
Middle number = [105=8+ 114 «6)-109x11] = (131.4-1188) = 11.6.

Total weight of (A + B + C) = [M%xl!] kg = 163 kg,
Total weight of (B + D + B) = (B3 = &) kg = 159 kg
Adding both, we gt : A + 2B +C + D = E = (163 = 158 kg = 322 kg
Sa, to find the average weight of A, B, C, D and E, we ought to know B's weight, which
is mot given. Sa, the data is inodeguate.
Sum of temperatures on 1st, Ind, 3rd and dth days = (68 » 4) = 282 degrees ..0J]
Eum of temperatures on 2nd, 3rd, 4th and 5th days = (60 x 4) = 240 degrees ..{if]
Subtracting (i} from (£, we get :
Temp. on Sth day - Temp. on Ist day = 8 degrees.
Let the temperatures on 1zt and 5th daye be Tx and 8x degrees respectively
Then, 8x-—-Tx=8aorx=§8

Tempernture an the Sth day = Bx = & degrees,

Let A, B, C represent their respective weights. Then, we have :

A+B+C=i(d5x 3 = 130 k]
A+ B=id0= 2= B0 wihdl}
B+C=143x 2) = Bj L]
Adding (o) and {iel, we gel - A + 28 + C = 166 -Aiv
Bubtracting (1) from (iv}, we get : B = 31

B’z weight = 31 kg
. Let P Q and R represent their respective monthly incomes. Then, we have :

P+ Q = (5060 = 2) = 10100 A
Q + R = (6250 = 2) = 12500 il
FshR =500 =2 = 1400 A 2EE)

Adding (1), 4D and (i), we get ' 2 (P + Q + Rl = 3300007 F + Q + B = 16500 ..0iv)
Subtracting (if) from [ivl, we get P = 4000,
P'a monthly income = Rs, 4000,



Quantitative Aptitude

BB. Age of the teacher = (37 = 15 - 36 = 14) vears = 51 years.
58, Manager's monthly salary = Rs. (1600 = 21 - 1500 = 20) = Ks, 3600,
80. Weight of the teacher = (35.4 = 26 — 35 x 24) kg = 48 kg
81. Ape of the mother = {12 ¥ 7 - 7 = &) vears = 42 vears,
52. Let the average age of the whole team be x years,
1lx-(26 + 28) =B (x- 1) &= 1lx-9x=46 e 2y = 46 & x =23
Bo, average age of the team is 23 vears.

B3, Bum of heights of the 5 boys = (2614 =20% 155} m = 4 m
Required average = [%] = 0.8 m.
&4, Total weight increased = (8 x 2.5) kg = 20 kg.
Weight of new person = (65 + 20) kg = 85 kg.

85. Sum of the ﬂ'-ﬂh‘t!- of the studenis afler r:p]awuwnl.
= [(B2 x 45) - (48 = ) + (54 = 5] kg = 2370 kg

( 2370} :
[V h:—ﬁ#él:g.

MNew lw-lll T ,I'
HTHMIFEM&M-[HHE}FII!-IHMH
Bum of ages of two new men = (21 + 23 + 16) years = 60 years

[
Averape age of two new men —LET:] years = J0 years,

BT. Letﬁ‘wmnmuﬂwnumhuhp;, x+ 1, x+ 2 x+3and ¥+ 4.

Their average = Er;—lﬂ =[x+ 3

_BrelrixeHelesf)  Tre2l
T T

Average of T numbers (= + 3.

Sa, the average increased by 1.
68. Let average for 10 innings be x Then,
10x + 108

11
New average = {x + 6) = 48 runs.
68, Lot the number of wickets taken till the last mateh be x Then,

=¥+6 = 1lz+66 = l0x+ 106 = x =42

4
A2+ 20 1 o 10U 6 = 1Or 460 m Odcm A w za DL WD o
xx=5 b4 4
T0. Lat tha total score be x
—1+g:_35=m - x4 T m 8T = % = R
Lxy 2= 5030
TL A = ].:m!hr.—-[—-—-—-—] km/hr = 37.5 km/ hr.
verage speed T3 BCTES

T2 Let A, B, C, ) and E represent their respeetive weights. Then,
A+B+Cu(Bdx3) =252 kg A+B+C+D=(80 x4 =320 kg.
D=(3) -3 kg =CE kg, E= (68 » 3 kg = T1 kg
B+C+D+E=({T9x 4 =316 kg

Now, A+B+C+IN=(B+C+D+E)=- {320 - 3160 kg = 4 kg
A-—_E=4d4d = h:ld-rE?:Tﬁkg ;
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T3,

Td.

Th.

Th.

TV,

86.
B4,

Sum of the present ages of husband, wife and child = (23 < 2 + 5 x 2] + 1 = 57 years.

i
o Required average = E—; & 19 years
4

Present sge of (A + Bl = (18 = 2 + 3 = 2) years = 42 years,
Prosenl. age of (A + B + C) = (22 x 3) years = 65 years.
S U age = (66 - 42) years = 24 years,
Surm of the present ages of busband, wife and child = (27 % & 4 3 »« 3) years = ¥ yoars.
Sum of the present ages of wife and child = (20x 2+ 5= 2 years = 50 years.
& HNusband's present age = (80 = 50} years = 40 years.
Total age of 5 members. 3 vears ago = (17 » 5) years = 85 years.
Total age of 5 members now = (85 + 3 » 5) years = 100 years,
Total age of 5 members now = (1T = &) years = 102 yvears.
Age of the baby = (102 = 100} vears = 2 years,
Total age of 4 members 10 years ago = (24 « 4} years = B8 yenrs.
Total age of 4 members now = (06 ¢ 10 = 4] years = 136 years.
Total age of G members now = (84 « §) vears = 144 years
Sum of the ages of 2 children = (144 = 136) years = B years.
Let the age of the younger child be x years.
Thon, age of the elder child = ix + 20 voars.
Bo, x+x+8=H = Zx=6 = x= 3
Age of younger child « 3 vears,
Ape decreaged = {6 x 3) years = 10 years.
Se, the required difference - 15 years.
Since the total or average age of all the family members is not given, the given data
is inadequate. 5o, the age of second child cannet be determined.
Let the initial nurnber of persone be x Then,
16x + 20 = 16 - 165 (x+ 200 &« 05x= 10 < x= 20
Let the daily wage of o man be Hs. x
Thoen, daily wage of a woman = Hs, (x = 6k
Now, 600x ¢ 400 (x = 5] = 26,560 x (600 + 400) o 1000z = 27500 = x= 27.50.
Maon's daily wages = Ra. 27.50, Woman daily wages = (x = 5] = Ra. 2250,
Lt the requined mean score be 2 Then,
= B+ B x Al + 3 xax= 02 = 10

e 1600 + 776 + S6x = 6200 = 55x = 2825 = I-%wﬁl‘i.

. Lot the total number of workers be 5 Then,

B0 = (12000 = 75 « 6000 (x — 7) e 2000y = 4206M) o= x= 21
Let the rumber of girls be = Then, number of boys = (600 — x).

Then, [1!%#6%1-1114]‘1[5[“ ) = x=TI0 - T050 e x= 150

4
Let the number of papers be x Then, 83x + 20 + I = By or Sx = T or x = 11.
Lt the ratio be k- 1. Then,
k= 164 + 1« 104 = {k+ 1} x 158

e (164 — 15.8) k= (165 - 154) = k= —=
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EXERCISE 6B

(DATA SUFFICIENCY TYPE QUESTIONS)

Directions (Questions 1«0 10) : Ench of the questions given below consists of &
statement and/or 8 question and two statements numbered [ and IT given below it. You
have to decide whether the data provided in the statementis) is/are sufficient to
answer the given question. Read both the statements and

Give answer (a) if the data in Statement I alone are sufficient to answer Lhe
gquestion, while the data in Statement [T alone are not sufficient te answar the guestion;

Grive answer (b) if the dats in Statemeat II mlone are sufficient to answer Lthe
question, while the data in Statement [ glone are not sufficiont to answer the quasiionm,

Cive answer (¢) if the data either in Statement | or in Statement [ sloae are
sufffeient to answer the guestion;

Give answer (d) if the data even in both Ststements [ and IT togethor are mot
sufficient to answer the question;

Give answer (&) if the data in both Stetements [ and 1] together are necossary to
apswer the guestion.

1. The totdl of the present ages of A, B, CC and D i 06 wears. What is B present age 7
I. The average age of A, B and I7 is 20 yrars
lI. The average age of C and D iz 25 years.
2. What is the average age of children in the class ? (Bank PO. 2003)
L Age of the teacher is as many vears as the number of children
II. Awerage age incronsed by 1 year if the teacher's age is alze included,
8. What is the average weight of the three new toam members who are recently included
in the team 7
I The average weight of the team increases by 20 kg
II. The three new men substitute earlier members whose wrights are 64 kg, 75 kg
and 86 kg.
4. The average age of P. Q. R and S iz 30 vears. How old is R ? {R.B.I. 2003)
[. The sam of ages of P and R is 60 years.
IL. & is 10 years vounger than H.
6. How old will C be after 10 years 7
L. Five years ago, the average age of A and B was 15 ¥edTH,
. Average age of A, B and C today iz 20 years.
6. How many children are thore in the group 7 (Bank PO. 2000)
L. Average age of the children in this group is 16 vears. The total age of all the
children in this group is 240 years,
Il. The total age of all the children in the group and the teacher is 264 years. The
age of the teacher is 9 years more than the average age of the children
7. Deepak's marks in Hindi arc 15 more than the average marks obdained by him in
Hindi, Economics, Sacdalogy and Philasephy. What are his marks in Philesaphy ?
l. The total marks ebtained by him in Hindi and Philosophy togeiher ia 130,
II. The difference between the marks obtained by him in Sociclogy and Ecenomics is

120.
8. How many candidates were interviewsd everyday by the panel A out of the three pancls
A Band C7 (Bapk PO, 1999)

. The three panels on an average intorview 15 candidates evervidiy,

1. Out of a total of 45 eandidates interviewed everyvday by the three panels, the number
of candidates interviewed by panel A is more by 2 than the candidates interviewed
by panel C and ia more by 1 than the candidates Interviewsd by pansl B,
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B, The average age of teacher and students in a class 15 3 vears more than the overage
age of students. What is the age of the class tescher ? {Bank RO. 2000)

I. There are 11 students in the eclass
11. The average age of teacher and students i 14 years,
10. What will be the average weipht of the remaining class 7 (Banpk FO. 1893)

I. Average weight of 30 children out of lotal 46 mn the class is 225 ky and that of
the remaining children iz 201285 kg A child having weight more than 40 kg =
exgluded.

T1. Average weight of a class of 46 children iz 23.5 kg. A child weighing 46 kg is
dropped euat.

Directions (Questions 11 to 15) : Each of the guestions given below consists of &
gquestion followed by three statements. You have to study the question and the stalements
and deecide which of the statement(g) is/are necessary to answer the question.

11, How many marks did Terun secure in English 7 (E.B.LPO. 2000)

I. The average marks obtained by Tarun in four subjects including English is 60.
II. The total marks obtained by him in English and Mathematics together is 170
[T1. The total marks obtained by him in Mathematics and Science together s 180.
(e} Tand IT onldy (b} T and IIT enly (e 1 and Il snly
(efl All T, 1T and 11 (e} Mone of these

12. The mean temperature of Monday to Wednesday was 37°C and of Tuesday to Thursday

was 34°C. What was the temperature on Thursday ?

L The temperature on Thursday was + th that of Monday

£ ]
1. The mean temperaturs of Monday and Thursdey was 40.6"C.
I1[. The difference between the temporaturs on Monday and that on Thursday was

arC.
(@) T and II only (&) 11 and 111 only (e} Kither | or 01
() Either I, I o7 L1 (¢h Any two of the three
18. In a cricket eleven, the average age of cleven players ie 28 yoars, What is the age of
the captain 7

I. The captain is eleven years older than the youngest player
1. The avernge age of 10 players, olher than the captain is 27.3 years.
1. Leaving aside the captain and the youngest player, the average ages of three groups
af three players each are 25 years. 25 years and 30 years respectively
(a} Any two of the three (& All I, 11 and 11T
(¢} 11 only or I and [T only {d) 11 and TIT oaly
(o} Mone of these
Directions (Question I4) : The given question iz followed by thres statements
labelled I IT and ITI. You have to study the question and sl the three statoments given
to decide whether any information provided in the statemeni(s) is/are redundant and
can be dispensed with while answoring the given question.
14. What is the average salary of 15 employees 7 (B.B.I.RO. 2001}
. Average salary of T clerical cadre (out of the 15 employees) is Rs. S600.
II. Average salary of 5 officer cadre (out of the 15 employees) s Rs 10000,
111, Average salary of the 3 sub-staff employoes (out of the 15 employees) is Rs. 2500,
(a} None {8 Only 1
(¢} Only II i) Omly 111
(e Guestion cannot be answered even with information in all the three statements



158 Chuaniitative Apftude

ANSWERS

Lidh 2.( 8¢ 4@ Bi& B 7T Bikh 0 (@
10, (B 11 (@ 12 (d 18 (¢ 4. (a)

SOLUTIONS
L A+B+C+D=%95 o)
Igives, A+B+D=(3=x20) = A+B+D=60 T
MEves, C + D = (2 x 500 = C+D=100 _. i)

From (i), (il and ({fD) also, we cannot find B.
Corroet angwer is (dh
2. L&t there be x children.
I gives, mge of weacher = x yoars.
II gives, average age of (x + 1) porsons = (x + 1) years.
~ Toeacher's age = (¥ + 1) (x + N-2=(f+1+20=x=(1+2x
Thus, teacher'=s age cannot be sbiained.
& Correct answer is (d)
8  Let the number of team members be n.
1. Total increase in weight on replacement = (20a) kg.
II. Total weight of acw membars = [(64 + 75 + 66) + 20n] ke

= (305 + 20n) kg.
Eequired average = m;ﬁim) kg and we need o to get the answer.
= Correct answer is (d).
4. P+ Q+R+5=(30x4 = P+Q+R+5=10 L)
L P+R=80 i)
I 5= (R = 1] i)

From (i), (i) and (i), we cannot find H.
Caorrect answer 13 {(d).

B. LA+B=({16x2+Hx2) = A+ B =40 )
II. A+B+C=(20=x3) = A+B+C =60 A1)
From (0 and (i, we get C = 20
C's age after 10 years = (20 + 10) years = 30 years.

. Correct amswer 8 (o).

8. Let there be x children in the group.
1. Average age = 16 years.
. Total age = 15x years.
15z = B0 = II'EII}EE = r= 16

Bo, thers are 16 children in the group.

II. Total age of x children and 1 teacher ie 264 years.
Age of teacher = {15 + &) years = 24 years,
Total age of x children = (264 - 24) years = 240 years.
This does not give the answer,

- Cprrect answer is al.
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H = [H+F.:E!+P]+15

= 4H-15=H+E+8+P = 3H-60=E+5+PF LD
LH+P=120 i)
ILS=-E = 1M -4 i)

From (7, (i) and (i), we cannot find P.
. Correct answer is (d).
L. Total candidates interviewed by 2 panels = (15 = 3} = 45.
II. Let x candidates be interviewed by C.
Number of candidates interviewed by A = (x + Z),
Number of ¢andidates interviewed by B = (x + 1).
g+(x+ Drilxtr L=di = Gx=42 e x= 14
Bo, the number of candidates interviewed by A 18 14.
Hence, the correct answer is (B
Average age of 11 students and 1 teacher = 14 yoars
=» Total age of (11 students and 1 teacher] = {14 » 12) years = 168 yoars.
Average age of (11 students and 1 leacher) = (Average age of 11 students) + &
= Average age of 11 students = (14 - 3) years = 11 years
=t Total age of 11 students = (11 x 11} years - 121 years.
s Age of the teacher = (188 - 121) years = 47 years.
Thusz, both T and 1T are needed Lo get e answer,
Correct answer ia (8.

1. Total weight of 48 children = [(22.5 = 30) + (20.125 = 18] kg = 1141 kg
Weight excluded is not exact. Bo, average of remaining clase cannot be obtained
IL Total weight of 45 children = [23.5 = 46) — 48] kg = 1035 ke
Average weight of 45 children = % kg = 23 kg,

Data in I1 i sufficient to answer the question, while the data in [ is not sufficent.
o~ Correet answer is ().
I gives, total marks in 4 subjects = (6D = 4) = 240.
[Ilgves, E+M=170
I gives, M + § = 180.
Thus, none of (a), (b}, (), (d) iz true.
. Correcl answer iz (g,

M+T+ We(3T=x3 = M+T+W=111 wal )
T+W+Th=(34x3 = T+W+Th=102 i)
I gives, 'Ih.-i!{ = IL'I.-ETIH
Ulsing it in {7}, we get :

%'111+T+W-111 .-L1i)

l]msuhtranﬁng{iﬂfmniﬁﬂ,wegﬂ:%'!’haﬂ = Th = 35.

Thus, | alone gives the answer.

Igives, M+Th=(405%x2) = M+ Th=28] i
Om subtracting (ii) from (i), we get M - Th = 8 A
From (iv) and (v}, we get Th = 36
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Thus, 11 alome gives the anewer.
10 gives, M - Th =6,
Clearly, [1] with given resulis, does not give the answer.
Correct answer is ().
Tolal ge of 11 players = (28 x 11) years = 308 years.
Le=YT+11l = C-¥=11 w1
IL Total age of 10 players (excluding captain) = (273 = 10) years = 273 years.
Age of enptain « (308 — 273) years = 35 years. '
Thus, ¢ = 38, AR
From (i) and (ii), we get ¥ = 24
OT. Total age of 9 plavers = [(25 = 3) + (28 x 3) 4 (30 = 3)] years = 249 years.
C+ Y =(308 — 240) = 50 i)
From (f) and ({if), we get O = 45.
Thus, 11 alone gives the answer.
Also, I and I1J together give the answer.
. Clorresl answer is (o).
L gives, total salary of T clerks = Re. (8500 x 7) = Rs. 50500.
Il gives, total salary of 5 officers = He (10000 x 5) = Rs. 50000,
I gives, total salary of 3 sub-staff members = Rs. (2500 x 3) = Rs. 7500,
Total salary of 16 employees = Rs. (59500 + 50000 + 7500) = Rs. 117000,

Average salury - Ra. [11

— | = Ra, TS00,
15 ]
All givan statements are nesded. Hence, none is redundant,
Correct answar g (a),




